51552 505  OstwaldcoloursOg, Yiy=100

M..,max (m) chromatic value, P60

chromaticity (X, y)

o220 Name and spectral range
m Ry 561_770 Y, 520_770

m G, 475_573 G, 380_561

578, 380_520 M, 573_475

CIE 1931 X

0,0 00
0,0 0,2 0,4 0,6 0,8 1,0
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Xw=97,06,Y,,=99,99,2,=104,57
%,=0,3218y,,=0,3315
Ao=(30[30,n*30,y*+3p,Al) Y
Bo=(bg~[bo,n+bo y+0o,
ag=ay[xyl 64
by = by [2M]

ay =1, byp=-0,4

B,

'
n = P60 —-40
ag y=ay(Y/Y1g-1)

b, y=boy (Y/Y1g-1)
2yy=0,000,b,y=0,000
ap,4=0,000,by 4=0,000
Ostwaldcolours O, Yyy=100
max (m) chromatic value, P60
chromatic value Ay, Bo)

DE391-2A 1




Xw=97,06,Yyy=99,99.2,,~104 57
X,=0,3218Y,,=0,3315
Ar=(ag~[aq n+ag y+ag al) Y
By=(by=[by nthy y+by Al) Y

8 =ay[(x-0,17D] 64

by =y [2/Y]

A= 1, by = ~0,4
Mr;=1,000b7,=0,171 ,

B,

n = P60 —-40
g y=agy(Y/Y1g~1)

by y=boy(Y/Y14-1)
2yy=0,000,b,y=0,000
a, A=0,000,b; 4=0,000
Ostwaldcolours O, Yyy=100
max (m) chromatic value, P60
chromatic value A, B;)
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Xu=97,06Y,,=99,992,~10457 B,
X,=0,3218Y,,=0,3315 4
Ax=(8p-[a n+ap y+ap al) Y
Bo=(ba—[bp ntby v+ Al) Y
ay =2y [(x-0,17Dh] i

n = P60 _40

A y=ay(Y/Y1g-1)

by y=boy(Y/Y1g-1)
2y3y=0,000,b,y=0,000

a, A=0,000,b, ,=0,000
Ostwaldcolours O, Yyy=100
max (m) chromatic value, P60

by=bag [(mpix*'bpgl
ag0= 1, byg= -0 8
Mp;=-0,169,0;=0,389 )

chromatic value (A,, B,)

P
\O\ AZ
57 e NS
40
7 5 35
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Xw=97,06,Y,,=99,99,2,=104,57 B3
%,=0,3218y,,=0,3315 -
Ag=(ag-[ag n+ag y+ag al) Y
Ba=(03-[b3 ths y+03 A1) Y

a3 =ay [(x-0,17D)/y]

b3=ba [(Mp1x+bp1)/y]

80=1, byo=-0,4 64
mD1=—0,974,bm=0,6'58 '

| 94 82

n = P60 -40
ag y=ay(Y/Y1g-1)

b y=boy(Y/Y14-1) 175 |
2yy=0,000,b,y=0,000

a3 A=0,000,b3 4=0,000
Ostwaldcolours O, Yyy=100
max (m) chromatic value, P60

chromatic value (A3, B3)
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Xw=97,06,Y,,=99,99,2,=104,57 B4
X,=0,3218Y,,=0,3315 1
As=(8g[a4,n*34,y+ag A) Y
B,=(bs=[by n+bs v+0g al) Y
a4 =ay[(x-0,17Dh] 4

r40
b=ba0 [(Mp1x+bp1)/Y] L
a0= 1, byo= ~0,4 5:"[/__ ‘;‘\8‘2\?
Mp1=-0,169,05;=0.389 [ , L2

A
n = P60 40 & ’ 40
ay y=apy(Y/Y1g-1) 17 5 35
by y=boy(Y/Y1g-1)

a,y=0,000,b,,=0,000
ay 4=0,000,b, =0,000
Ostwaldcolours O, Yyy=100

max (m) chromatic value, P60 T-40

chromatic value (A4 By)
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Xw=97,06,Y,,=99,99,7,,=104,57
X=0,3218y,,0,3315
As=(as~[as n+as,y*as,al) Y
Bg=(bs—[bs n+bs y+bs Al) Y
ag=ay,[(+8,61x-7,19-0,26
bs=b,[(+1,99+3,86/53,¢0)]
a5, = 0,10,b5, = 0,10

n = P60 -40

a5 y=ayy(Y/Y1g~1)

bs y=boy(Y/Y1g-1)
a,y=0,000,5,y=0,000
a5,4=0,000,b5 4=0,000
Ostwaldcolours O, Yyy=100

Bs
+40
u
Ag.G.v,R=475,503,574,494¢,E, nm N
40
17 s 35
+-40

max (m) chromatic value, P60
chromatic value (A5, Bs)
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Xu=97,06Y,,=99,992,~10457 B,
%,=0,3218y,,=0,3315 g
Ae=(36[36,1*36,y*+35,Al) Y
Bg=(bs~[be,n+bs v+ al) Y

g = ago [x/Y] Y
be=ba [(Mp1x+bp1)/y]

80= 1, byo=-0,64
Mpy=-0,974,=0.§ ,

n = P60 -40

g y=agy(Y/Y1g~1) 7
be y=boy(Y/Y1g-1)
2,y=0,000,b,y=0,000

a A=0,000,b5 4=0,000
Ostwaldcolours O, Yyy=100
max (m) chromatic value, P60

chromatic value (Ag, Bg)
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